vl

Os T &4 22 A

oA
rlo

£9

DO x®-x-6=(x-3)(x+2)

@ x-4=(x+2)(x-2)

@ - -2x=x(x+1)(x-2)
@ 18x% —2x = 2x(3x— 1) (3x + 1)

® 3x2+6x+3=0Bx+1)(x+2)



N

2. e 3 dAAEAC] He Ae BF 12d?

® x2+10x+25 @ x?+8x+16
@ ¥ +12x+25 @ 2x2 + dxy + 4y?

® x2 + 6xy + 9y?



3. 3ab®-15a%b S AFEG AL?

@ ab(a-b) @ 3a(b*-b) ® 3ab(b - 5a)

@ ab(a+b) ® 3a?(b? - 5b)



Sl ZA-S o] 85to] 132 - 122 = 13 + 12 & AAtstgt}. o] of,

@ a® + 2ab + b* = (a + b)?
@ a® -2ab+b* = (a—b)?
® a®-b2=(a+b)(a-b)
@ x*+(a+b)x+ab=(x+a)(x+b)

® acx® + (ad + bc)x + bd = (ax + b)(cx + d)



5. a-b=2vV32L W, a®+b*>-2ab-3(a—-b)-12 2] F2?

D -6V3 @ 1-643 ® 2-6V3
@ 3-63 B 4-63



o5 A 4a® + o+ 9b? o] LA FA o] H g ot dH2 A-Z
nA=2%V)
@ =+6ab @ 6ab ® —6ab

@ +12ab ®3) 12ab



@ (x+9)?2
@ —(x+9)(x-9)



8. 6x2—x-2,4x>—4x-3,2x2 +ax-2 7} x o Ot LAAS FHl
‘?l’\iﬂ'?—lq,a/l%}:az oY

D 9 @ 6 3 3 @ -3 B -9



9. the olXAY & A57h 2x-2 A o, ThE F QA5

6x% —8x+m

@ 2x-1 @ 2x+1 @ 3x-1

@® 3x+1 B 4x-1



10. x?—2xy—1+4+y2S A5E3|51H?

O (x-y+1D(x-y-1) @ (x+y+1)(x+y-1)
@ (x—y+D(x+y-1) @ (x-y-1)(x+y-1)

® (x+y+1)(x-y-1)



11. x*—4x—A=(x+5)(x-B) oI A+ B9 k22

D 6 ® 9 A 20 @ 49 B 54



12.

Hi
(x—

@D 10

(x+4)(

2)(x - 10) © i o1

? 12



13.

@ (x-a)(y-b)
@ (x+a)(y+b)

@ (x—a)(y+b)

® (x+a)(y-b)



ThS WIZTel WEEA] 47t Bolsbof she AL B nEw?

(O 12 +36x+[O] = (2x+[®)?
62+ x+[@]= 3x+5)(2x+[ @)

ORONG) ® 0,0, ® 9,
@ ©,® ® @,0






